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In this section all the questions are compulsory                           
Sl. No. Question Marks CO 

Q1. In India, the institution of family has a trend towards: 
(a) Joint family 
(b) Nuclear family 
(c) Patriarchal family 
(d) Matriarchal family 
 

1 CO2 

Q2. These days in India, the institution of marriage is weakening because: 
(a) Our religious leaders are becoming rigid 
(b) Women are becoming economically sell-sufficient 
(c) Less number of people are liking to marry 
(d) People prefer small size family 
 

1 CO2 

Q3. According to Weber, the three types of leadership are: 
(a) Rational, feudal and capitalistic 
(b) Feudal, traditional and charismatic 
(c) Legal, traditional and charismatic 
(d) None of the above 
 

1 CO1 

Q4. Which of the following statements gives correct explanation of norms: 
(a) Norms are those standards of group behaviour which the members must 
follow 
(b) Norms are those standards which are obeyed to bring diffusion among the 
individuals 
(c) Norms are certain rules which are adopted to keep the individuals away from 
any kind of interaction 
(d) Norms act against the modes of behaviour of the individuals 
 

1 CO2 



Q5. Which of the following statements is correct? 
(a) Deviance is in contradiction to social norms 
(b) Deviance is the negation of the social behaviour and decency 
(c) Deviance means the performance of activities which are not approved by the 
society 
(d) All of the above 
 

1 CO2 

Q6. Who first introduced the concept of alienation into sociological theory? 
(a) Hegel 
(b) August Comte 
(c) Marx 
(d) Herbert Spencer 
 

1 CO1 

Q7. What is the type of marriage called when the brother of a deceased man is 
obliged to marry his brother’s widow? 

a) Levirate 
b) Sororate 
c) Adelphic Polyandry 
d) Adelphic Polygyy 

1 CO1 

Q8. A position or rank that is assigned to a person at birth and cannot be changed 
is called as  

a) A closed status 
b) A fixed status 
c) An achieved status 
d) An ascribed status 

1 CO1 

Q9. Concept of Cultural Lag is given by 
a) Kingsley Davis 
b) Nimcoff 
c) Ogburn 
d) McIver 

1 CO1 

Q10. Who among the following contributed the concept of Dominant Caste? 
a) S.C. Dubey 
b) R.K. Mukherjee 
c) M.N. Srinivas 
d) D.P. Mukherjee 

1 CO1 

Q11. Anomic Suicide is the result of 
a) Low Social Integration 
b) Low Social Regulation 
c) High Social Integration 
d) Low Social Regulation 
 

1 CO1 

Q12. Which of the following is considered as achieved status? 
a) Sex 
b) Age 
c) Marital Status 
d) Caste 

1 CO1 



Q13. Sociology has been said to be the product of ___________ revolution 
a) Chinese 
b) Russian 
c) French 
d) American 

1 CO1 

Q14. Non Conformity to a set of norms is known as 
a) Crime 
b) Habit 
c) Deviance 
d) None of the above 

1 CO2 

Q15. The degree to which people are tied to a social group is called 
a) Integration 
b) Interaction 
c) Contact 
d) We Feeling 

1 CO2 

Q16. ___________ is a negative social sanction 
a) Praise 
b) Suggestion 
c) Reward 
d) Punishment 

1 CO2 

Q17. Without _____________ there can be no groups 
a) Society 
b) Culture 
c) Relations 
d) Individuals 

1 CO1 

Q18 Knowledge is an example of ____________culture 
a) Material 
b) Non-Material 
c) Explicit 
d) None of the above 

1 CO1 

Q19. According to Karl Marx societies have all along been divided between:  
a) The rich and the poor  
b) The educated and the elite  
c) The religious and the educated people  
d) The rich and the religious people 

1 CO2 

Q20. Which is not part of the Law of Three Stages according to Auguste Comte?  
a) The Theological stage  
b) The Metaphysical stage  
c) The Metamorphic stage  
d) The Positive Stage 

1 CO1 

    
                                                        SECTION B                                                     ( 4* 5 Marks Each -20 Marks) 

Answer any FOUR Questions 
Q1. Problem of Objectivity in Research 5 CO2, CO3 



Q2. Write short notes on Facts, Values and Objectivity from sociological point of 
view. 5 CO3, CO4 

Q3. Theory of Cultural Lag 5 CO3, CO4 
Q4. Social Consequences of increase in the rate of Divorce. 5 CO3, CO4 
Q5. Sociology without history is rootless and History without sociology is fruitless. 

Elaborate 
5 CO2, CO3 

Q6. Highlight the importance of Value Neutrality in Social Science 5 CO3, CO4 
Q7. Define ‘social stratification’ and critically examine the view that Marx has 

“oversimplified the structure of satisfaction by reducing it to one factor, control 
of the means of production. 
 

5 CO3, CO4 

                                                    
 

SECTION-C     Descriptive Questions                                
( 2* 15  Marks Each- 3 Marks)  
Answer Any TWO Questions 

Q1. Discuss how Power and Authority go together. Also examine various types of 
Authority. 

15 CO3, 
CO4, CO5 

Q2. Distinguish between Observation and Interviewing as techniques of data 
collection. Under what contexts may their use be recommended? Bring out their 
merits and demerits as regards their objectivity and validity. 

15 CO3, 
CO4, CO5 

Q3. Define Bureaucracy and outline the characteristic features. Discuss the various 
merits and demerits of Bureaucracy 15 

CO3, 
CO4, CO5 

Q4. Discuss why there is slow progress of scheduled caste despite Positive 
discrimination. Also discuss the need and importance of Reservation system in 
India 

15 
CO3, 
CO4, 
CO51 

 
  SECTION-D    Analytical Questions 

 ( 2* 15  Marks Each- 30 Marks)  
Answer Any TWO Questions                                                

 
Q1. Examine Pareto’s analysis of Circulation of Elites. Is it valid for modern 

industrial societies? 
15 CO3, 

CO4, CO5 
Q2. Critically examine the view that Joint Family system in India is changing over to 

Nuclear family. 
15 CO3, 

CO4, CO5 
Q3. Explain Durkheim’s basic arguments in Suicide. Analyse high suicide rates in 

contemporary Indian Society with Durkheim’s theory of Suicide.  
15 CO4, CO5 

Q4. Is Caste system changing, weakening or disintegrating in India? Give suitable 
examples citing the concept of Sanskritisation 

15 CO3, 
CO4, CO5 

 

 




